

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

Course

AHEM-221

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

 Transcript No:
 KU25781
 Medium of Instruction: English

 Name
 DESAI ANERI VIKESHKUMAR
 Registration No
 2020040150083010

 Name
 DESAI ANERI VIKESHKUMAR
 Registration No
 2020040150083010

 Faculty
 Veterinary Science and Animal Husbandry
 Admission
 2020

 College/Institute
 Bharatia Polytechnic In Animal Husbandry, Surat
 Completion
 June-2023



**Credit Point** 

17.2

	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	7.8	31.2
APHY-111	4	8.8	35.2
LPM-111	3	8.5	25.5
ENG-111	3	8.6	25.8
CA-111	3	8.9	26.7
Total	17	42.6	144.4
GPA: 8.49	The sales of	CC	SPA: 8.49
att Vazina	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.1	18.3
AN-121	2	8.2	16.4
AB-121	2	7.2	14.4
LPM-121	3	8.1	24.3
AHE-121	3	7.5	22.5
ENVS-121	3	8.5	25.5
Total	16	45.6	121.4
GPA: 7.59	TV STIMSKISKEN	CG	PA: 8.05
in InitVite	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.2	18.6
VPARA-211	3	6.2 *	18.6
VPA-211	3	5.9	17.7
AHE-212	v xxxi3.ghai h	7.9	23.7
AN-211	y xae2asa t	5.911V KA	11.8
Total	Y KAM14EMUL	32.1   32.1	90.4
GPA: 6.46	V DOF SHIELD IN	CG	PA: 7.58

NOTE:	@: Non-credit course	#: Not to be Counted
	US: Unsatisfactory	S. Satisfactory:

\* : Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

AN-222	2	7.5	15.0
VP-221	5	5.9	29.5
AR-221	3	7.1	21.3
AHC-221	4	7.7	30.8
Total	16	36.8	113.8
GPA: 7.11		CC	SPA: 7.46
	FIFTH SEM	ESTER	121 - 120
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.5	22.0
AR-312	3	5.8	17.4
VPH-311	4	5.6	22.4
LPM-313	3	6.1	18.3
VSUR-311	3	6.5	19.5
Total	17	29.5	99.6
GPA: 5.86		TO BOTH CO	PA: 7.12
	SIXTH SEM	ESTER	anter uvo
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	min pari
Total	15	S	
GPA: 0.00		CC	PA: 7.12
OGPA Less than 5.0		Class Fail	
5,50-6	.49 CEDITENU W	Secon	d Class
6.50-7	49 KATUMENU UI	First	Class

ABSTRACT OF ACADEMIC PERFORMANCE

7.12 /10.00

FOURTH SEMESTER

**Grade Point** 

8.6

**Credit Hours** 

Prepared By

October 12, 2023

Checked By



Assistant Registrar

7.50 and above

First Class

1. Total Credit Hour : 95
2. Total Credit Points

4. Result : <u>PASS</u>
5. Class : <u>F</u>

3. Overall Grade Point Average



First Class with Distinction

Percentage



Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

#### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

KU25782 Medium of Instruction: English Transcript No: DHADUK ANIKET GUNVANTBHAI 2020040150083012 Name Registration No Faculty Veterinary Science and Animal Husbandry 2020 Admission College/Institute Bharatia Polytechnic In Animal Husbandry, Surat June-2023 Completion



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	8.1	32.4
APHY-111	4	7.8	31.2
LPM-111	3	8.1	24.3
ENG-111	3	7.4	22.2
CA-111	3	7.8	23.4
Total	17	39.2	133.5
GPA: 7.85	Casalina III	CC	PA: 7.85
77.0	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	8.6	25.8
AN-121	2	9.6	19.2
AB-121	2	8.3	16.6
LPM-121	3	8.6	25.8
AHE-121	3	8.1	24.3
ENVS-121	3	9.0	27.0
Total	16	52.2	138.7
GPA: 8.67	R DIAMPHIAL AL	CG	PA: 8.25
BILL MILLON	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	8.2	24.6
VPARA-211	3	7.2	21.6
VPA-211	3	7.4	22.2
AHE-212	х мам3ланы	7.8	23.4
AN-211	W KAMIZENU U	8.3 TV KAN	16.6
Total	Y KAR14LUL U	38.9	108.4
GPA: 7.74	A AND DESCRIPTION OF	cc	PA: 8.10

NOTE:	@: Non-credit course	#: Not to be Counted
	US. Unsatisfactory	S. Satisfactory

: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

51	FOURTH SEM	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	7.7	15.4
AN-222	2	8.2	16.4
VP-221	5	7.7	38.5
AR-221	3	8.9	26.7
AHC-221	4	8.2	32.8
Total	16	40.7	129.8
GPA: 8.11		CC	GPA: 8.10
	FIFTH SEM	ESTER -	Digital altito
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	8.2	32.8
AR-312	3	8.6	25.8
VPH-311	4	7.5	30.0
LPM-313	3	7.6	22.8
VSUR-311	3	8.5	25.5
Total	17	40.4	136.9
GPA: 8.05		CO	GPA: 8.09
	SIXTH SEM	ESTER	breath minist
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CC	SPA: 8.09
OGF	A	CI	ass
Less tha	n 5.0	DERSITY KAR	ail air myryf
5.00-5	.49 CATEVENI U	Pass Class	
5.50-6	.49	Walls Secon	d Class
6.50-7	.49	First	Class
7.50 and	above	First Class w	ith Distinction
ABSTRAC	F OF ACADEM	IC PERFORM	MANCE

1. Total Credit Hour: 95

2. Total Credit Points 647.3

3. Overall Grade Point Average

8.09 /10.00 Percentage 80.90

4. Result : PASS

5. Class: First Class with Distinction

October 12, 2023











# KAMDHENU UNIVE

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU II IVVERSITY KAMUHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No:	K0E3183	MEGIG	in of matruction, English
Name	KACCHADIYA MILANKUMAR SURESHBHAI	Registration No	2020040150083014
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.6	26.4
APHY-111	4	7.3	29.2
LPM-111	3	7.4	22.2
ENG-111	3	8.0	24.0
CA-111	3	8.4	25.2
Total	17	37.7	127.0
GPA: 7.47	DECK HELD	CC	PA: 7.47
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.4	19.2
AN-121	2	8.2	16.4
AB-121	2	7.4	14.8
LPM-121	3	7.4	22.2
AHE-121	3	7.2	21.6
ENVS-121	3	7.8	23.4
Total	16	44.4	117.6
GPA: 7.35	Y CREOUS MEST	CG	PA: 7.41
1174 75	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.3 *	18.9
VPARA-211	3	6.2 *	18.6
VPA-211	W Whom 3 moons yo	6.1 *	18.3
AHE-212	ny kangaman n	6.4	19.2
AN-211	TY KAM ZIENG U	5.2 TV KAP	10.4
Total Total	Y KAM14 SIRA U	30.2	85.4
GPA: 6.10	E SMOODNE IS	CG	PA: 7.02

NOTE:	<b>@</b> :	Non-credit course	
-------	------------	-------------------	--

#: Not to be Counted;

US: Unsatisfactory

S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

FOURTH SEMESTER			
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	5.6	11.2
AN-222	2	6.8	13.6
VP-221	5	6.1	30.5
AR-221	3	7.0	21.0
AHC-221	4	6.9	27.6
Total	16	32.4	103.9
CW 2 10		CC	TA 600

GIA , 0,42	CG1A: 0,05			
FIFTH SEMESTER				
Course	Credit Hours	Grade Point	Credit Point	
AHC-312	4	7.1 *	28.4	
AR-312	3	5.0	15.0	
VPH-311	4	7.2 *	28.8	
LPM-313	3	6.6 *	19.8	
VSUR-311	3	5.3	15.9	
Total	17	31.2	107.9	
GPA: 6.35		CC	PA: 6.77	

GPA: 6.35		CGPA: 6.77		
SIXTH SEMESTER				
Course	Credit Hours	Credit Hours   Grade Point   Cr		
FPT-321	15#	S		
Total	15	S		
GPA: 0.00	THE STREET STREET	CC	GPA: 6.77	
OGP	A MANUELL LINE	IMPRETTY ILC	lass	
Less tha	n 5.0	DESCRIP VAR	ailemmenter	
5.00-5	.49 A HARRING	Pass Class		
5.50-6.49		Second Class		
6.50-7.49		First	Class	
7.50 and above		First Class with Distinction		

#### ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 541.8

3. Overall Grade Point Average

6.77 /10.00 Percentage 67.70

4. Result : PASS

5. Class: First Class











College/Institute

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

Completion

#### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Medium of Instruction: English Transcript No: KU25784 2020040150083015 Name KALSARIYA CHETAN RAGHAVBHAI Registration No 2020 Faculty Veterinary Science and Animal Husbandry Admission

Bharatia Polytechnic In Animal Husbandry, Surat



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.7	26.8
APHY-111	4	8.4	33.6
LPM-111	3	8.1	24.3
ENG-111	3	7.6	22.8
CA-111	3	8.1	24.3
Total	17	38.9	131.8
GPA: 7.75		CC	PA: 7.75
	SECOND SI	EMESTER	7/11/19/7
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	7.1	21.3
AN-121	2	8.2	16.4
AB-121	2	7.4	14.8
LPM-121	3	7.4	22.2
AHE-121	3	6.8	20.4
ENVS-121	3	8.4	25.2
Total	16	45.3	120.3
GPA: 7.52	THE DESCRIPTION OF THE PERSON	CG	PA: 7.64
in a mirel	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.1	18.3
VPARA-211	3	6.6 *	19.8
VPA-211	3	6.6	19.8
AHE-212	V ESTAS TESTIL II	6.9	20.7
AN-211	y kara2 Enu u	IIVI5.5ETY KAP	11.0
Total	Y KAMIALAW U	31.7 XA	89.6
GPA: 6.40	8 - 530 U (S)	CG	PA: 7.27

NOTE:	<b>@</b> :	Non-credit course	#: Not to be Counted;

US: Unsatisfactory S: Satisfactory;

: Repeated - Cleared Course(S) by more than one trial,

Note: Please see detail of course code and course title overleaf

Course	Credit Hours	Grade Point	Credit Poin
AHEM-221	2	7.0	14.0
AN-222	2	7.0	14.0
VP-221	5	6.2	31.0
AR-221	3	8.1	24.3
AHC-221	4	8.0	32.0
Total	16	36.3	115.3
GPA: 7.21	Day of the	CO	PA: 7.25
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Poin
AHC-312	4	6.0	24.0
AR-312	3	6.4	19.2
VPH-311	4	5.5	22.0
LPM-313	3	5.6	16.8
VSUR-311	3	7.5	22.5
Total	17	31.0	104.5
GPA: 6.15	Water Control	PRODUCE CO	PA: 7.02
4 -	SIXTH SEM	ESTER	THE ALL DIVINE
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CG	PA: 7.02
OGP	A SOUTH THE STATE OF	WEIGHT V CI	ass
1 1 50			
5.00-5.49		Pass Class	
5.50-6		Second Class	
6.50-7	.49	First Class	
7.50 and	above	First Class with Distinction	
ABSTRACT	OF ACADEM	IC PERFORM	IANCE

June-2023

FOURTH SEMESTER

4. Result : PASS

First Class 5. Class:

3. Overall Grade Point Average

1. Total Credit Hour : 95

2. Total Credit Points

October 12, 2023

Checked By



561.5

7.02 /10.00

70.20

Percentage



Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

Course

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU25785 Medium of Instruction: English

Name	KHAN SHEHZANKHAN SHARIFKHAN	Registration No	2020040150083017
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



Credit Point

	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	5.6	22.4
APHY-111	4	6.6	26.4
LPM-111	3	6.8	20.4
ENG-111	3	6.8	20.4
CA-111	3	7.8	23.4
Total	17	33.6	113.0
GPA: 6.65	TO TOTAL OF STATE OF	CC	PA: 6.65
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.1	18.3
AN-121	2	7.0	14.0
AB-121	2	6.7	13.4
LPM-121	3	7.1	21.3
AHE-121	3	7.1	21.3
ENVS-121	3	7.1	21.3
Total	16	41.1	109.6
GPA: 6.85	NI COPCINEDA,	CG	PA: 6.75
ALCONOMICS TO	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.3	15.9
VPARA-211	3	6.3 *	18.9
VPA-211	3	5.5	16.5
AHE-212	у камалыны	6.4	19.2
AN-211	Y UM2 IEW 4	6.0	12.0
Total	Y KAM14 EVU L	29.5	82.5
GPA: 5.89	You all Sales and the	CG	PA: 6.49

NOTE:	@: Non-credit course	#: Not to be Counted
	US: Unsatisfactory	S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Note:	Planca saa	detail	fcourse	code and	course tit	le overleaf
MULC.	I lease see	uctan o	or course	coue anu	COULSE III	ie overieai

AHEM-221	2	6.5	13.0
AN-222	2	7.2	14.4
VP-221	5	5.7	28.5
AR-221	3	6.8	20.4
AHC-221	4	7.3	29.2
Total	16	33.5	105.5
GPA: 6.59		CC	GPA: 6.52
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	7.0	28.0
AR-312	3	5.7	17.1
VPH-311	4	6.2	24.8
LPM-313	3	5.7	17.1
VSUR-311	3	6.1	18.3
Total	17	30.7	105.3
GPA: 6.19		CONSTRUCCO	PA: 6.45
	SIXTH SEM	ESTER	DOUBLE LINE
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#_	S	
Total	15	S	
GPA: 0.00	1 1 1 1 1 1	CC	GPA: 6.45

FOURTH SEMESTER

Credit Hours | Grade Point

#### ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 515.9

OGPA

Less than 5.0

5.00-5.49

5.50-6.49

6.50-7.49

7.50 and above

3. Overall Grade Point Average

6.45 /10.00 64.50 Percentage

Class

Fail

Pass Class

Second Class

First Class

First Class with Distinction

4. Result : PASS

5. Class: Second Class

October 12, 2023











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENH INIVERSITY KAMDHENII HNIVERSITY KAMDHENII UNIVERSITI KAMOHENII UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU2578L Medium of Instruction: English

Name NAYKA KRISHNABEN NARESHBHAI Registration No 2020040150083018

Faculty Veterinary Science and Animal Husbandry Admission 2020

College/Institute Bharatia Polytechnic In Animal Husbandry, Surat Completion June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.6	26.4
APHY-111	4	8.2	32.8
LPM-111	3	7.8	23.4
ENG-111	3	7.0	21.0
CA-111	3	8.1	24.3
Total	17	37.7	127.9
GPA: 7.52	Windstell of	CC	PA: 7.52
	SECOND S	EMESTER	THE RES
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.9	20.7
AN-121	2	7.9	15.8
AB-121	2	7.9	15.8
LPM-121	3	7.9	23.7
AHE-121	3	7.3	21.9
ENVS-121	3	7.9	23.7
Total	16	45.8	121.6
GPA: 7.60	THE A SECTION DATE OF THE PARTY.	CG	PA: 7.56
	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	8.0	24.0
VPARA-211	3	7.1	21.3
VPA-211	3	8.2	24.6
AHE-212	r v jedni3 mani ji	8.1	24.3
AN-211	T N SIN2 THO I	11 8.6 ITM XA	17.2
Total	Y XAM14 FILL I	40.0	111.4
GPA: 7.96		CG	PA: 7.68

NOTE:	@: Non-credit course	#: Not to be Counted:
	US. Uncaticfactory	S. Satisfactory

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	8.1	16.2
AN-222	2	8.2	16.4
VP-221	5	7.2	36.0
AR-221	3	7.9	23.7
AHC-221	4	8.3	33.2
Total	16	39.7	125.5
GPA: 7.84	THE RESERVE	CC	PA: 7.72
	FIFTH SEM	ESTER	their they
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	8.6	34.4
AR-312	3	8.3	24.9
VPH-311	4	7.3	29.2
LPM-313	3	7.2	21.6
VSUR-311	3	8.4	25,2
Total	17	39.8	135.3
₩ GPA: 7.96		JANSLEY CO	PA: 7.77
	SIXTH SEM	ESTER	DHISH THEN
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00	100 mm 100 mm	CG	PA: 7.77
OGP	A	Class	
Less that	n 5.0	TWEESTTY RAFail CHILDREN	
5.00-5	.49 🔾 🚾 🖽 🖽	Pass Class	
5.50-6	.49	Second Class	
6.50-7	.49	First Class	
7.50 and	above	First Class wi	ith Distinction
ABSTRACT	OF ACADEM	IC PERFORM	IANCE
Total Credit Hour :	95	Constitution of	
Total Credit Points	621.7		

7.77 /10.00

FOURTH SEMESTER

October 12, 2023

Checked By



Assistant Registrar

First Class with Distinction

3. Overall Grade Point Average

4. Result : PASS 5. Class : F



Percentage



# KAMDHE

Gandhinagar, Gujarat (Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No:	KU25787	Mediu	m of Instruction : English
Name	PARMAR YASHKUMAR BIPINBHAI	Registration No	2020040150083020
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institut	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.5	26.0
APHY-111	4	7.2	28.8
LPM-111	3	8.0	24.0
ENG-111	3	7.7	23.1
CA-111	3	7.3	21.9
Total	17	36.7	123.8
GPA: 7.28	W KOMSINI SE	CC	PA: 7.28
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.1	18.3
AN-121	2	7.8	15.6
AB-121	2	6.4	12.8
LPM-121	3	7.4	22.2
AHE-121	3	6.7	20.1
ENVS-121	3	8.3	24.9
Total	16	42.7	113.9
GPA: 7.12	Y WANGE FEE BA	CG	PA: 7.20
10011/021	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.3	15.9
VPARA-211	3	5.8 *	17.4
VPA-211	3	5.1	15.3
AHE-212	por izan 3 premiu	6.7	20.1
AN-211	Y KAR 2 HEAL L	5.2	10.4
Total	Y KAM14/EM5/4	28.1	79.1
GPA: 5.65	A KARLESTON	CG	PA: 6.74

NOTE:	@: Non-credit course	#: Not to be Counted
	TIC. Illerational	C. C. L. C

: Repeated - Cleared Course(S) by more than one trial;

Note: Please see	e detail of course	code and cou	rse title overleaf

	FOURTH SEM	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	7.3	14.6
AN-222	2	6.5	13.0
VP-221	5	5.5	27.5
AR-221	3	6.8	20.4
AHC-221	4	6.9	27.6
Total	16	33.0	103.1
GPA: 6.44		CO	PA: 6.67
	FIFTH SEM	ESTER 4	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.6	22.4
AR-312	3	5.7	17.1
VPH-311	4	5.4	21.6
LPM-313	3	5.3	15.9
VSUR-311	3	5.9	17.7
Total	17	27.9	94.7
GPA: 5.57	A SECTION OF	CC	PA: 6.43
	SIXTH SEM	ESTER	OH AL LOUAL
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CG	PA: 6.43
OGI	PA MMERIL III	INFESTIV C	ass
Less tha	n 5.0 Martin 14	LUFFERTY II Fail 15311 LINTVI	
5.00-5.49		DVERGI III Pass Class II IMEVI	
5.50-6	5.49	Second Class	
6.50-7	.49	First	Class
	The second second second	Direct Class and	ith Distinction
7.50 and	above	FIRST Class W	illi Distiliction

2. Total Credit Points 514.6

3. Overall Grade Point Average

6.43 /10.00 Percentage

64.30

4. Result : PASS

Second Class

October 12, 2023











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU INIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU25788 Medium of Instruction: English
Name PATEL AMISHAKUMARI THAKORBHAI Registration No 2020040150083021

Faculty Veterinary Science and Animal Husbandry Admission 2020

College/Institute Bharatia Polytechnic In Animal Husbandry, Surat Completion June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.1	24.4
APHY-111	4	8.1	32.4
LPM-111	3	6.5	19.5
ENG-111	3	7.2	21.6
CA-111	3	7.4	22.2
Total	17	35.3	120.1
GPA: 7.06	(A VERTICAL PROPERTY AND A	CC	SPA: 7.06
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.1	18.3
AN-121	2	8.1	16.2
AB-121	2	6.6	13.2
LPM-121	3	7.9	23.7
AHE-121	3	6.0	18.0
ENVS-121	3	7.4	22.2
Total	16	42.1	111.6
GPA: 6.98	N-SOME SE	CG	PA: 7.02
IN TO INDEED	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.3	18.9
VPARA-211	3	5.9	17.7
VPA-211	3	6.4	19.2
AHE-212	V VAMBARUH I	1701 <b>7.1</b> 1 YA	21.3
AN-211	M acard2 Februs	17.1.1.17.1 KA	14.2
Total Total	Y KAP14 ENV L	32.8	91.3
GPA: 6.52	N PARTY OF AN	CG	PA: 6.87

NOTE:	@: Non-credit course	#: Not to be Counted;
	US. Uncaticfactory	S. Satisfactory

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	Grade Point	Credit Poin	
2			
2	6.7	13.4	
2	8.0	16.0	
5	6.4	32.0	
3	7.3	21.9	
4	7.2	28.8	
16	35.6	112.1	
	CC	PA: 6.91	
FIFTH SEM	ESTER		
Credit Hours	Grade Point	Credit Point	
4	7.9	31.6	
3	7.0	21.0	
4	6.7	26.8	
3	6.9	20.7	
3	7.4	22.2	
17	35.9	122.3	
	CC	PA: 6.97	
SIXTH SEMI	ESTER	CARDENIA TUTAAN	
Credit Hours	Grade Point	Credit Point	
15#	S		
15	S	-will -	
A TO THE REAL PROPERTY.	CG	PA: 6.97	
A	RIEDSTEV VCI	ass	
	INCHELL OF Fail WALL INTON		
5.00-5.49		Pass Class	
.49 2.41131.EMI 44	Second Class		
.49	First Class		
above	First Class wi	ith Distinction	
OF ACADEM	IC PERFORM	IANCE	
	5 3 4 16 FIFTH SEM Credit Hours 4 3 4 3 17 SIXTH SEM Credit Hours 15# 15 15 15 4 15 4 16 17 18 18 18 18 18 18 18 18 18 18 18 18 18	5 6.4 3 7.3 4 7.2 16 35.6  FIFTH SEMESTER  Credit Hours Grade Point 4 7.9 3 7.0 4 6.7 3 6.9 3 7.4 17 35.9  CG  SIXTH SEMESTER  Credit Hours Grade Point 15# S 15 S  CG  A CI n 5.0 First	

2. Total Credit Points 557.4

3. Overall Grade Point Average 6.97 /10.00 Percentage 69.70

4. Result : PASS

. Class: First Class

October 12, 2023 Prepared By







Registrar



# KAMDHENU UNIVERSITY

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

ranserint No. - VIII 5789

Transcript No:	Transcript No: KU25789 Medium of Instruction: E		
Name	PATEL CHRIS KEVIN	Registration No	2020040150083022
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.9	27.6
APHY-111	4	7.6	30.4
LPM-111	3	6.7	20.1
ENG-111	3	8.2	24.6
CA-111	3	8.1	24.3
Total	17	37.5	127.0
GPA: 7.47	Trigger world at 4	CC	PA: 7.47
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.9	20.7
AN-121	2	7.8	15.6
AB-121	2	7.4	14.8
LPM-121	3	7.6	22.8
AHE-121	3	7.5	22.5
ENVS-121	3	8.1	24.3
Total	16	45.3	120.7
GPA: 7.54	VIOLANDAM (SOUTH	CG	PA: 7.51
THE THEFT	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.2 *	18.6
VPARA-211	3	5.4 *	16.2
VPA-211	3	5.1	15.3
AHE-212		6.3	18.9
AN-211	Y WAND IN THE	ты 5.3 түлкд	10.6
HENUTotal ERS	Y EAMINERU L	28.3	79.6
GPA: 5.69	PERMIT	CG	PA: 6.96

NOTE:	@: Non-credit course	#: Not to be Counted;

US: Unsatisfactory S: Satisfactory;

\* : Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

FOURTH SEMESTER			
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	6.5	13.0
AN-222	2	6.9	13.8
VP-221	5	5.0	25.0
AR-221	3	6.8	20.4
AHC-221	4	6.6	26.4
Total	16	31.8	98.6
GPA: 6.16		CG	PA: 6.76

FIFTH SEMESTER			
Credit Hours	Grade Point	Credit Point	
4	5.4	21.6	
3	6.0	18.0	
4	5.7	22.8	
3	6.2	18.6	
3	6.3	18.9	
17	29.6	99.9	
	THE CO	PA: 6.57	
	4 3 4 3 3 3 3	Credit Hours         Grade Point           4         5.4           3         6.0           4         5.7           3         6.2           3         6.3           17         29.6	

Total	17	29.6	99.9
GPA: 5.88		THE TOP CO	GPA: 6.57
	SIXTH SEM	ESTER	mediatr circ Vi
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00	The second	CC	GPA: 6.57
OGP	A	· C	lass
Less that	n 5.0	Types may got	ail
5.00-5	.49	Pass Class	
MUNUMEN 5.50-6.49 (A MHEMU W		Second Class	
6.50-7.49		First	Class
7.50 and	above	First Class w	ith Distinction

#### ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 525.8

3. Overall Grade Point Average

6.57 /10.00 Percentage

4. Result : PASS

5. Class: First Class

October 12, 2023 Prepared By -).



Assistan Registrar





Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Franscript No: KU25790 Medium of Instruction: Englis

Transcript No:	KU25790	Mediu	m of Instruction : English
Name	PATEL DHAVALKUMAR DILIPBHAI	Registration No	2020040150083023
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	and the
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.0	24.0
APHY-111	4	7.3	29.2
LPM-111	3	6.1	18.3
ENG-111	3	6.9	20.7
CA-111	3	7.9	23.7
Total	17	34.2	115.9
GPA: 6.82		CC	PA: 6.82
	SECOND S	EMESTER	7
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	7.1	21.3
AN-121	2	7.7	15.4
AB-121	2	7.4	14.8
LPM-121	3	7.4	22.2
AHE-121	3	7.7	23.1
ENVS-121	3	8.2	24.6
Total	16	45.5	121.4
GPA: 7.59	CARL ALERS	CG	PA: 7.19
THE PERSON NAMED IN	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.3	15.9
VPARA-211	3	6.3 *	18.9
VPA-211	3	5.9	17.7
AHE-212	v mam3 man a	7.0	21.0
AN-211	r y lan <mark>2</mark> ffill 1	11 5.4 TV KA	энцы 10.8
REMUTotal	Y KAM14EMU L	29.9	84.3 L
GPA: 6.02	SET TO SET OF SET OF	CG	PA: 6.84

NOTE:	@: Non-credit course	#: Not to be Counted
	US: Uncetisfactors	C. Catinfactors

\*: Repeated - Cleared Course(S) by more than one trial,

Note: Please see detail of course code and course title overleaf

	FOURTH SEN	MESTER	
Course	Credit Hours	Grade Point	Credit Poin
AHEM-221	2	6.6	13.2
AN-222	2	7.5	15.0
VP-221	5	5.8	29.0
AR-221	3	7.3	21.9
AHC-221	4	7.3	29.2
Total	16	34.5	108.3
GPA: 6.77		CC	PA: 6.82
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Poin
AHC-312	4	6.5	26.0
AR-312	3	6.2	18.6
VPH-311	4	5.1	20.4
LPM-313	3	6.3	18.9
VSUR-311	3	6.9	20.7
Total	17	31.0	104.6
GPA: 6.15	10 to 10 to 10	CO	PA: 6.68
	SIXTH SEM	ESTER W	gerall than
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00	The second second	CC	PA: 6.68
OGP	A THEATT IN	The C	ass
Less that	п 5.0 метнерит ца	INDESTITY KAP	ail garr on ivi
5.00-5	49 AM HEND U	TUTRELLY Pass	Class
5.50-6	.49	Secon	d Class
6.50-7	49	First	Class
7.50 and	above	First Class w	ith Distinction
ABSTRACT	OF ACADEM	IC PERFORM	MANCE
Total Credit Hour :	95	Control of	
The state of the s	The second secon	the same of the sa	THE RESERVE TO SHARE THE PARTY OF THE PARTY

6.68 /10.00

October 12, 2023 Prepared By 7-







3. Overall Grade Point Average

First Class

4. Result : PASS
5. Class : Fi



Percentage



Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

Completion

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

 Transcript No:
 KU25791
 Medium of Instruction: English

 Name
 PATEL EKTA RAJESHBHAI
 Registration No
 2020040150083024

 Faculty
 Veterinary Science and Animal Husbandry
 Admission
 2020



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Poin
LAN-111	4	6.0	24.0
APHY-111	4	6.8	27.2
LPM-111	3	6.7	20.1
ENG-111	3	6.3	18.9
CA-111	3	7.1	21.3
Total	17	32.9	111.5
GPA: 6.56	KIN KIN KIN KIN K	CC	PA: 6.56
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.3	18.9
AN-121	2	8.8	17.6
AB-121	2	7.1	14.2
LPM-121	3	7.3	21.9
AHE-121	3	7.3	21.9
ENVS-121	3	8.0	24.0
Total	16	44.8	118.5
GPA: 7.41	<b>多国际</b> 使用	CG	PA: 6.97
HE ALL DIPOLE	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	7.1	21.3
VPARA-211	3	6.2	18.6
VPA-211	M SAKS ENT TO	7.2	21.6
AHE-212	V 82243-111111 II	7.7	23.1
AN-211	y JOAM2-TENU LI	ши6.9 П - кал	13.8
EWUTotal / LRS/	Y KAMIATERU U	35.1	98.4
GPA: 7.03	7 8 8 8	CG	PA: 6.99

NOTE:	@: Non-credit course	#: Not to be Counted;
	HC. Umastiafastani	C. Catiafasta

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	7.9	15.8
AN-222	2	8.0	16.0
VP-221	5	7.3	36.5
AR-221	3	7.4	22.2
AHC-221	4	7.9	31.6
Total	16	38.5	122.1
GPA: 7.63		CO	PA: 7.15
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	7.3	29.2
AR-312	3	7.2	21.6
VPH-311	4	6.6	26.4
LPM-313	3	6.6	19.8
VSUR-311	3	7.7	23.1
Total	17	35.4	120.1
GPA: 7.06		CG	PA: 7.13
	SIXTH SEMI	ESTER	DAELIN INLAN
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	July 1 Today
Total	15	S	
GPA: 0.00		CG	PA: 7.13
OGP	A SHEET I	TATISTIV (CI	ass
Less tha	n 5.0	TVERSITY INF	ail mu untre
5.00-5	.49 дауджены ш	IVERS III Pass	Class
5.50-6	.49 A 2 E E U	Secon	d Class
6.50-7	.49	First Class	
7.50 and	above	First Class wi	th Distinction
ABSTRACT	OF ACADEM	IC PERFORM	1ANCE
. Total Credit Hour :	95	Vanis Cal	n-Angamin
. Total Credit Points	570.6	WEST STREET	metro mator
Overall Grade Point	Average 7.13	/10.00 Percent	age 71.30

June-2023

October 12, 2023 Prepared By

Checked By



5. Class:

Assistant Registrar

First Class





Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMOHENU UNIVERSITY KAMOHENU UNIVERSITY KAMOHENU UNIVERSITY KAMOHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

ranscript No. | KII25792 | Medium of Instruction : English

Transcript No:	KU25792	Medit	im of Instruction : English
Name	PATEL FENIL GANESHBHAI	Registration No	2020040150083025
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.9	27.6
APHY-111	4	7.7	30.8
LPM-111	3	8.0	24.0
ENG-111	3	8.0	24.0
CA-111	3	7.3	21.9
Total	17	37.9	128.3
GPA: 7.55	A Property of	CC	PA: 7.55
حسنتر الا	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.6	19.8
AN-121	2	8.4	16.8
AB-121	2	7.6	15.2
LPM-121	3	7.7	23.1
AHE-121	3	8.1	24.3
ENVS-121	3	8.7	26.1
Total	16	47.1	125.3
GPA: 7.83	STEEDINGS IN	CG	PA: 7.68
signi milkino	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.0	15.0
VPARA-211	3	5.9	17.7
VPA-211	3	6.3	18.9
AHE-212	v eartamin	6.7	20.1
AN-211	y usun2 muu L	6.1 TV KA	12.2
Total	Y KAR14 EUU U	30.0	83.9
CDA . 500	North District of the later	CC	DA . 719

NOTE:	@: Non-credit course	#: Not to be Counted
	US: Unsatisfactory	S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	7.0	14.0
AN-222	2	6.8	13.6
VP-221	5	6.1	30.5
AR-221	3	7.5	22.5
AHC-221	4	6.9	27.6
Total	16	34.3	108.2
GPA: 6.76		CC	PA: 7.07
	FIFTH SEM	ESTER	2- " " V2
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.5	22.0
AR-312	3	6.3	18.9
VPH-311	4	5.0	20.0
LPM-313	3	5.4	16.2
VSUR-311	3	6.4	19.2
Total	17	28.6	96.3
GPA: 5.66		MANUAL CO	PA: 6.78
	SIXTH SEM	ESTER	neen contra
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	in the Public
Total	15	S	
GPA: 0.00	THE REAL PROPERTY.	CG	PA: 6.78
OGP	A services in	CI	ass
Less that	n 5.0	THERSTLY RAE	ail and only
5.00-5	.49 (40)00000000000000000000000000000000000	Pass Class	
5.50-6	.49	Second Class	
6.50-7	49	First	Class
7.50 and	A REPORT OF THE PROPERTY OF TH	n: . OI	th Distinction

FOURTH SEMESTER

ADSTRACT OF ACADEMIC PERFORMA

1. Total Credit Hour : 95

2. Total Credit Points 542.0

3. Overall Grade Point Average 6.78 /10.00 Percentage 67.80

4. Result : PASS

5. Class: First Class











Gandhinagar, Gujarat (Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

1 ranscript No:	NO: KUES773 Wedium of Instruction; E.		m of fistruction; English
Name	PATEL PRATIKKUMAR MAHERVANBHAI	Registration No	2020040150083026
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	7.1	28.4
APHY-111	4	7.6	30.4
LPM-111	3	6.0	18.0
ENG-111	3	7.0	21.0
CA-111	3	7.8	23.4
Total	17	35.5	121.2
GPA: 7.13	TWANTED BY	CC	PA: 7.13
ci iu ammer	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.7	20.1
AN-121	2	7.8	15.6
AB-121	2	6.8	13.6
LPM-121	3	7.2	21.6
AHE-121	3	7.9	23.7
ENVS-121	3	7.8	23.4
Total	16	44.2	118.0
GPA: 7.38	AT TRANSPORT	CG	PA: 7.25
THE O IN MISCH	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.0	15.0
VPARA-211	3	5.9 *	17.7
VPA-211	MODERAL BREAKET IN	5.2	15.6
AHE-212	тульма3 канал	5.6	16.8
AN-211	Y KARIZ ENU A	17/5.3 TY KAN	10.6
Total	Y KAM14 ETRE 4	27.0	75.7
GPA: 5.41	Y KAN DELEMENT	CC	PA: 6.70

NOTE:	@: Non-credit course	#: Not to be Counted;
	TIC. Handiscon.	0.0-4:0-4-

: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course	e code and course title overleaf

	FOURTH SEM	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	6.5	13.0
AN-222	2	6.7	13.4
VP-221	5	5.2	26.0
AR-221	3	6.9	20.7
AHC-221	4	6.9	27.6
Total	16	32.2	100.7
GPA: 6.29		CC	GPA: 6.60
	FIFTH SEM	ESTER	Dina Tital
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.7	22.8
AR-312	3	5.9	17.7
VPH-311	4	5.6	22.4
LPM-313	3	6.4	19.2
VSUR-311	3	6.1	18.3
Total	17	29.7	100.4
GPA: 5.91		ALLES STY CO	PA: 6.45
	SIXTH SEM	ESTER	Begern family
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CG	PA: 6.45
OGP	A Troppanii IIA	P DOCETY C	ass
Less than 5.0		рдіяктту ма Fail дан патал	
5.00-5.49 камыныны ы		Pass Class	
5.50-6	.49	Secon	d Class
6.50-7	49	First	Class
7.50 and	above	First Class wi	ith Distinction

#### ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 516.0

3. Overall Grade Point Average 6.45 /10.00 Percentage

4. Result : PASS

Second Class











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMOHENII UNIVERSITY KAMOHENU UNIVERSITY KAMOHENU UNIVERSITY KAMOHENU UNIVERSITY

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Franscript No : KII2 5794 Medium of Instruction : English

Transcript 140: KUEST14		Medium of thetraction . English	
Name	PATEL SANKET AMULBHAI	Registration No	2020040150083027
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.6	26.4
APHY-111	4	6.7	26.8
LPM-111	3	7.3	21.9
ENG-111	3	6.8	20.4
CA-111	3	7.7	23.1
Total	17	35.1	118.6
GPA: 6.98	OTHER DESIGNATION AND ADDRESS OF THE PERSON	CC	PA: 6.98
in the same of	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.9	20.7
AN-121	2	8.0	16.0
AB-121	2	7.4	14.8
LPM-121	3	7.6	22.8
AHE-121	3	7.9	23.7
ENVS-121	3	7.8	23.4
Total	16	45.6	121.4
GPA: 7.59	S SASSINE NO PE	CG	PA: 7.27
TOTAL TOTAL CO.	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.1	15.3
VPARA-211	3	6.7 *	20.1
VPA-211	W KEEN 3 DEMILITY	11A/15.5	16.5
AHE-212	Y KAMBIENILL	6.1 Try	18.3
AN-211	Y KAMIZIENU U	IIVF5.5	11.0
Total	V KAN14EAU U	28.9	81.2
GPA: 5.80	MERCHANICAL CO.	CG	PA: 6.83

NOTE:	@: Non-credit course	#: Not to be Counted
	US. Uppetiafectors	S. Catiafactors

Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	FOURTH SEN	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	5.6	11.2
AN-222	2	6.5	13.0
VP-221	5	5.1	25.5
AR-221	3	7.2	21.6
AHC-221	4	6.4	25.6
Total	16	30.8	96.9
GPA: 6.06		CC	SPA: 6.64
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	6.1	24.4
AR-312	3	6.7	20.1
VPH-311	4	5.5	22.0
LPM-313	3	6.0	18.0
VSUR-311	3	6.1	18.3
Total	17	30.4	102.8
GPA: 6.05	1000	CO	PA: 6.51
	SIXTH SEM	ESTER	DHOSVII TULLIVO
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CC	PA: 6.51
OGF	A preferring	EVERSITY C	lass
Less tha	n 5.0	DUBERTIN SAF	ailmin night
5.00-5	i.49 (11/20/11/11/11/11)	Pass Class	
5.50-6.49		Second Class	
6.50-7	49	First	Class
7.50 and	above	First Class w	ith Distinction
ABSTRAC	T OF ACADEM	IC PERFORM	MANCE
Total Credit Hour :	95		
Total Credit Points	520.9		NUMBER OF THE PARTY OF

6.51 /10.00

October 12, 2023 Prepared By.







3. Overall Grade Point Average

First Class

4. Result : PASS
5. Class : Fi



Percentage



Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMOHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU25775		Mediu	m of instruction : English
Name	PATEL ZEELBEN BHARATKUMAR	Registration No	2020040150083029
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Rharatia Polytechnic In Animal Husbandry Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Poin
LAN-111	4	5.7 *	22.8
APHY-111	4	6.4 *	25.6
LPM-111	3	6.6	19.8
ENG-111	3	5.6	16.8
CA-111	3	7.5	22.5
Total	17	31.8	107.5
GPA: 6.32	in the second	CC	PA: 6.32
THE PARTY.	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.9	20.7
AN-121	2	8.5	17.0
AB-121	2	7.3	14.6
LPM-121	3	7.3	21.9
AHE-121	3	6.6	19.8
ENVS-121	3	8.1	24.3
Total	16	44.7	118.3
GPA: 7.39	YARAN EVELONE	CG	PA: 6.84
The state of the s	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	7.1	21.3
VPARA-211	3	6.6	19.8
VPA-211	3,000	6.6	19.8
AHE-212	у каш3пэдст	7.1	21.3
AN-211	י ני נופי2	14.7.8 TV KA	15.6
Total E851	PERMIT	35.2	97.8
GPA: 6.99	A STATE OF THE STA	CG	PA: 6.89

NOTE:	@: Non-credit course	#: No
	HC. Heartist	0.0

ot to be Counted;

S: Satisfactory; US: Unsatisfactory

: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	FOURTH SEA	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	8.0	16.0
AN-222	2	8.2	16.4
VP-221	5	7.3	36.5
AR-221	3	8.2	24.6
AHC-221	4	7.1	28.4
Total	16	38.8	121.9
GPA: 7.62	STATE OF THE PARTY	CO	GPA: 7.07
	FIFTH SEM	ESTER	eru d'alla
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	8.2	32.8

FIFTH SEMESTER			
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	8.2	32.8
AR-312	3	7.6	22.8
VPH-311	4	7.3	29.2
LPM-313	3	7.1	21.3
VSUR-311	3	7.9	23.7
Total	17	38.1	129.8
GPA: 7.64		CO	PA: 7.19

GIII.			*****
	SIXTH SEM	ESTER	DATE OF THE PARTY.
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CC	GPA: 7.19
OGP	A	tienstay & C	lass
Less tha	n 5.0	TOTALL TO Fail FAIL HALVE	
5.00-5.49		Pass Class	
5.50-6	49	Secon	d Class
6 50-7	49	First	Class

First Class with Distinction ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points

3. Overall Grade Point Average

7.50 and above

7.19 /10.00

71.90 Percentage

4. Result : PASS

First Class

October 12, 2023







Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMPHENI I IMIVEOSITY KAMDHENI I INIVERSITY KAMDHENI UNIVERSITY KAMDHENI UNIVERSITY

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KII2579h Medium of Instruction : Englis

Transcript No.	KUEST 18	Wicara	in or matraction : English
Name	PAVAR NAYANKUMAR JITENDRABHAI	Registration No	2020040150083030
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.6	26.4
APHY-111	4	7.0	28.0
LPM-111	3	6.9	20.7
ENG-111	3	7.2	21.6
CA-111	3	7.8	23.4
Total	17	35.5	120.1
GPA: 7.06	The second second	CC	PA: 7.06
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	7.0	21.0
AN-121	2	8.2	16.4
AB-121	2	7.3	14.6
LPM-121	3	7.6	22.8
AHE-121	3	8.0	24.0
ENVS-121	3	7.8	23.4
Total	16	45.9	122.2
GPA: 7.64	THE PARTY OF	CG	PA: 7.34
Harrie :	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	7.0 *	21.0
VPARA-211	3	5.8 *	17.4
VPA-211	3	5.0	15.0
AHE-212	er et personal years and	6.1	18.3
AN-211	r KANTZENS SI	7V25.3	10.6
Total	KAR14HB A	29.2	82.3
GPA: 5.88	T SAN GENERAL SE	CG	PA: 6.91

NOTE:	@: Non-credit course	#: Not to be Counted
	UC. Umastisfanta	C- C-4:-C-4

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	5.1	10.2
AN-222	2	6.8	13.6
VP-221	5	6.2	31.0
AR-221	3	7.2	21.6
AHC-221	4	6.6	26.4
Total	16	31.9	102.8
GPA: 6.43	The second	CO	PA: 6.78
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	6.8	27.2
AR-312	3	6.5	19.5
VPH-311	4	5.7	22.8
LPM-313	3	6.0	18.0
VSUR-311	3	5.2	15.6
Total	17	30.2	103.1
GPA: 6.06	A STREET	CG	PA: 6.63
	SIXTH SEMI	ESTER	SHIDS I THEY AND
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CG	PA: 6.63
OGP	A THE MACHINI AND	CI	ass
Less than 5.0		UEDSTTV IIAFAİLIJII IMTVE	
5.00-5	49	VERSIAN Pass	Class
5.50-6	49	Secon	d Class
6.50-7	.49	First	Class
7.50 and	s. Commission III	D' - 01	th Distinction

ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 530.5

2. Total Credit Points 550.5

3. Overall Grade Point Average 6.63 /10.00 Percentage 66.30

4. Result : PASS

5. Class : First Class











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

I ranscript No :	KUESTAT	Media	in of first action . English
Name	PIPALIYA DHRUV SURESHBHAI	Registration No	2020040150083031
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.3	25.2
APHY-111	4	7.4	29.6
LPM-111	3	7.4	22.2
ENG-111	3	7.1	21.3
CA-111	3	8.0	24.0
Total	17	36.2	122.3
GPA: 7.19	Water Commercial Conference	CC	PA: 7.19
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	7.6	22.8
AN-121	2	8.4	16.8
AB-121	2	7.5	15.0
LPM-121	3	7.9	23.7
AHE-121	3	7.0	21.0
ENVS-121	3	7.4	22.2
Total	16	45.8	121.5
GPA: 7.59	To Karte Gentle Tel	CG	PA: 7.39
	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.2	18.6
VPARA-211	3	6.9	20.7
VPA-211	3, 2, 4, 4, 3, 12, 44, 1	6.9	20.7
AHE-212	U. MANAGANA	7.4	22.2
AN-211	v man 2 mm i	7.2	14.4

NOTE:	@: Non-credit course	#: Not to be Counted;
	US: Unsatisfactory	S: Satisfactory;
	* : Repeated - Cleared Co	burse(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	FOURTH SEN	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	6.8	13.6
AN-222	2	7.8	15.6
VP-221	5	6.9	34.5
AR-221	3	7.6	22.8
AHC-221	4	8.2	32.8
Total	16	37.3	119.3
GPA: 7.46	Was and Total State of	CC	PA: 7.30
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	7.9	31.6
AR-312	3	7.2	21.6
VPH-311	4	6.3	25.2
LPM-313	3	6.5	19.5
VSUR-311	3	7.1	21.3
Total	17	35.0	119.2
GPA: 7.01	of the party	CHESTY CO	PA: 7.24
	SIXTH SEM	ESTER	4 14W TITLE
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	#C 0
Total	15	S	Name .
GPA: 0.00	A SHOW HE SA	CC	PA: 7.24
OGP	A Lapponesser da	THESOTTY PC	ass
Less tha	n 5.0	THE ALL ALL	ail ean purty
5.00-5	.49 KALEHER F. H	Pass	Class
5.50-6	49 Althemat Li	Secon	d Class
6,50-7	.49 MENU TA	TWEKS ITT First	Class
7.50 and	above	First Class w	ith Distinction

ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points

7.24 /10.00 3. Overall Grade Point Average Percentage

4. Result : PASS

5. Class : First Class

Total

GPA: 6.90



96.6 7.24

CGPA:









Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMPHENI LINIVERSITY KAMPHENII LINIVERSITY KAMPHENII LINIVERSITY KAMPHENII UNIVERSITY

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU25798

Medium of Instruction : English

Transcript No:	KU25798	Media	in of instruction : Engisu
Name	PRAJAPATI CHETAN MANHARBHAI	Registration No	2020040150083032
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



MANASAR MENERAL MENERA

	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.8	27.2
APHY-111	4	8.4	33.6
LPM-111	3	7.7	23.1
ENG-111	3	9.0	27.0
CA-111	3	8.3	24.9
Total	17	40.2	135.8
GPA: 7.99	1000 310 4	CC	PA: 7.99
-	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	5.8	17.4
AN-121	2	8.7	17.4
AB-121	2	7.2	14.4
LPM-121	3	7.3	21.9
AHE-121	3	7.1	21.3
ENVS-121	3	8.3	24.9
Total	16	44.4	117,3
GPA: 7.33	A WARDALD AND	CG	PA: 7.67
A LITTLE	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.5	16.5
VPARA-211	3	5.3	15.9
VPA-211	3	5.7	17.1
AHE-212	Turkey 3 may 1	7.6	22.8
AN-211	V 7/5/2 (m)//	6.9	13.8

		Annual Control of the
NOTE:	@: Non-credit course	#: Not to be Counted
	US: Unsatisfactory	S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	FOURTH SEN	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	8.1	16.2
AN-222	2	7.2	14.4
VP-221	5	6.4	32.0
AR-221	3	7.2	21.6
AHC-221	4	7.5	30.0
Total	16	36.4	114.2
GPA: 7.14		CC	PA: 7.20
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.6	22.4
AR-312	3	6.3	18.9
VPH-311	4	5.2	20.8
LPM-313	3	6.6	19.8
VSUR-311	3	6.3	18.9
Total	17	30.0	100.8
GPA: 5.93	To the	CC	PA: 6.93
	SIXTH SEM	ESTER	Carry, U.Zonii.
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	4.00
Total	15	S	
GPA: 0.00		CC	PA: 6.93
OGP	A	THEFTTY LO	ass
Less tha	п 5.0 дэнгэн на	TVERSTTV M/R	ailignii tiigtyrei
5.00-5	.49	PASSET Pass	Class
5.50-6	.49	Secon	d Class
6.50-7	49	First	Class
7.50 and	above	First Class w	ith Distinction

ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 554.2

2. Total Credit Points 554.2

3. Overall Grade Point Average 6.93 /10.00 Percentage 69.30

4. Result : PASS

5. Class: First Class

October 12, 2023 Prepared By

Total

GPA: 6.15



86.1

7.22

CGPA:









# KAMDHENU UNIVERSITY

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

Course

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Franscript No. - KU25799 Medium of Instruction : English

1 ranscript No:	KUESTAA	Wieuru	in of fusti action . English
Name	RABARI JIGARBHAI KHUMABHAI	Registration No	2020040150083033
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



Credit Point

SALAKINE WENE WENE WENE

	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.3	25.2
APHY-111	4	6.6	26.4
LPM-111	3	6.0	18.0
ENG-111	3	6.1	18.3
CA-111	3	7.4	22.2
Total	17	32.4	110.1
GPA: 6.48	e legitiment of	CC	PA: 6.48
	SECOND S	EMESTER	17.41.11
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.1	18.3
AN-121	2	7.9	15.8
AB-121	2	6.7	13.4
LPM-121	3	5.9	17.7
AHE-121	3	7.1	21.3
ENVS-121	3	7.2	21.6
Total	16	40.9	108.1
GPA: 6.76	WINDS THE PARTY OF	CG	PA: 6.61
	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	7.1 *	21.3
VPARA-211	3	6.3 *	18.9
VPA-211	3	5.0	15.0
AHE-212	3	6.1	18.3
AN-211	V KAM 2 HOUT	5.6	11.2
Total	14	30,1	84.7

NOTE:	@: Non-credit course	#: Not to be Counted;
	US. Uncatisfactory	S. Satisfactory

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

Course	C. care rious		0140111
AHEM-221	2	6.3	12.6
AN-222	2	6.5	13.0
VP-221	5	5.6	28.0
AR-221	3	6.9	20.7
AHC-221	4	6.6	26.4
Total	16	31.9	100.7
GPA: 6.29		CC	GPA: 6.41
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.9	23.6
AR-312	3	5.4	16.2
VPH-311	4	7.3 *	29.2
LPM-313	3	5.8	17.4
VSUR-311	3	5.3	15.9
Total	17	29.7	102.3
GPA: 6.02	3 5 Th. 12	CC	GPA: 6.32
	SIXTH SEM	ESTER	State Fillin
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	
Total	15	S	
GPA: 0.00		CC	GPA: 6.32
OGP	A amountains	THE CTYX C	lass
Less that	n 5.0	TUBETTY MA	
5.00-5	49 XAMBHESHI M	Pass	Class
5.50-6	49 EASTHERN 14	Second Class	
6.50-7	49 KAMENIENU BI	First Class	
7.50 and above First Class with Distinction		ith Distinction	
ABSTRACT	OF ACADEM	IC PERFORM	MANCE
1. Total Credit Hour :	95		THE PARTY
2. Total Credit Points	505.9	MANUEL SI	1,2,400
3. Overall Grade Point	The same of the sa	/10.00 Percen	tage 63.20

FOURTH SEMESTER

**Grade Point** 

Credit Hours

4. Result : PASS

5. Class: Second Class











THE WEST STREET STREET, STREET

# KAMDHENU UNIVERSITY

Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY I

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KU25ADD Medium of Instruction: English

Transcript 140: KOE3888			in or matraction : English
Name	SOLANKI ABHAYKUMAR ANILBHAI	Registration No	2020040150083034
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	6.5	26.0
APHY-111	4	7.4	29.6
LPM-111	3	7.8	23.4
ENG-111	3	8.8	26.4
CA-111	3	7.5	22.5
Total	17	38.0	127.9
GPA: 7.52		CC	PA: 7.52
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	6.6	19.8
AN-121	2	7.8	15.6
AB-121	2	7.1	14.2
LPM-121	3	7.8	23.4
AHE-121	3	7.3	21.9
ENVS-121	3	8.6	25.8
Total	16	45.2	120.7
GPA: 7.54	Terotherdaze in	CG	PA: 7.53
	THIRD SE	MESTER	EN 1825
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	6.8 *	20.4
VPARA-211	3	7.0 *	21.0
VPA-211	3	6.2	18.6
AHE-212	3	7.4	22.2
AN-211	v scan2-star	6.1 TTV VA	12.2
Total	v xa 14 mi	33.5	94.4
CDA . 674	Contract Contract	CC	DA . 7.20

NOTE:	@: Non-credit course	#: Not to be Counted;
	US: Unsatisfactory	S: Satisfactory;
	* : Repeated - Cleared C	Course(S) by more than one tr

Note: Please see detail of course code and course title overleaf

	FOURTH SEM	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	7.9	15.8
AN-222	2	7.7	15.4
VP-221	5	7.2	36.0
AR-221	3	7.7	23.1
AHC-221	4	7.4	29.6
Total	16	37.9	119.9
GPA: 7.49	1000	CC	GPA: 7.35
	FIFTH SEM	ESTER	1711
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	6.4	25.6
AR-312	3	6.5	19.5
VPH-311	4	6.0	24.0
LPM-313	3	6.7	20.1
VSUR-311	3	7.7	23.1
Total	17	33.3	112.3
GPA: 6.61	THE WAR	CC	SPA: 7.19
	SIXTH SEM	ESTER	DESK BIT
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	V - ''
Total	15	S	
GPA: 0.00		CC	PA: 7.19
OGP	A AMERICAN TAN	C	lass
Less that	n 5.0	runberro of	ail
5.00-5			Class
5.50-6	49	YVERS I Secon	d Class
6.50-7	49 24 77 21 17	EVERSAL First	Class
7.50 and	above	First Class w	ith Distinction

ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 575.2

2. Total Credit Points 575.2

3. Overall Grade Point Average 7.19 /10.00 Percentage 71.90

4. Result : PASS

5. Class: First Class











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

## Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No: KII25AD3. Medium of Instruction: English

Franscript No :	KOESOOT	Micula	illi of flisti action . English
Name	VASAVA JAIMINKUMAR HAMESHBHAI	Registration No	2020040150083035
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	5.8	23.2
APHY-111	4	6.1	24.4
LPM-111	3	6.2	18.6
ENG-111	3	7.4	22.2
CA-111	3	6.4	19.2
Total	17	31.9	107.6
GPA: 6.33	Sall Control of the sale of	CC	PA: 6.33
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	5.8	17.4
AN-121	2	8.6	17.2
AB-121	2	7.4	14.8
LPM-121	3	7.7	23.1
AHE-121	3	7.6	22.8
ENVS-121	3	6.9	20.7
Total	16	44.0	116.0
GPA: 7.25	maximatile of	CG	PA: 6.78
	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.9 *	17.7
VPARA-211	3	6.0 *	18.0
VPA-211	3	5.0	15.0
AHE-212	3.100	5.9	17.7
AN-211	v wam2amm	5.4	10.8
Total	V X4214 Emile	28.2	79.2
GPA: 5.66	CGPA: 6.44		

NOTE:	(a): Non-credit course	#: Not to be Counted;
	US: Unsatisfactory	S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Note: Please see detail of course code and course title overleaf

	FOURTH SEM	MESTER	
Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	6.6	13.2
AN-222	2	6.3	12.6
VP-221	5	6.2	31.0
AR-221	3	7.1	21.3
AHC-221	4	6.8	27.2
Total	16	33.0	105.3
GPA: 6.58		CC	SPA: 6.48
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Point
AHC-312	4	5.4	21.6
AR-312	3	5.6	16.8
VPH-311	4	7.1 *	28.4
LPM-313	3	6.9 *	20.7
VSUR-311	3	5.5	16.5
Total	17	30.5	104.0
GPA: 6.12	THE PARTY OF	CC	GPA: 6.40
1,000	SIXTH SEM	ESTER	20 - 4100
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	71112
Total	15	S	
GPA: 0.00		CC	SPA: 6.40
OGPA		Class	
Less than 5.0		THERETTY WFailuren HUTHE	
5.00-5.49		Pass Class	
5.50-6.49 AMBERLANDER		Second Class	
0.50-7.49 KAMUHENDI U		First Class	
7.50 and above		First Class with Distinction	

ABSTRACT OF ACADEMIC PERFORMANCE

1. Total Credit Hour : 95

2. Total Credit Points 512.1

2. Total Credit Points 512.1

3. Overall Grade Point Average 6.40 /10.00 Percentage 64.00

4. Result : PASS

5. Class: Second Class











Gandhinagar, Gujarat

(Established by Government of Gujarat vide Gujarat Act No. 09 of 2009)

KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY KAMDHENU UNIVERSITY

### Transcript of academic performance in Three-Year course leading to the Diploma in Animal Husbandry

Transcript No:	KU25802	Medit	m of Instruction : English
Name	YADAV SAGAR RAMESHBHAI	Registration No	2020040150083036
Faculty	Veterinary Science and Animal Husbandry	Admission	2020
College/Institute	Bharatia Polytechnic In Animal Husbandry, Surat	Completion	June-2023



	FIRST SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
LAN-111	4	5.0	20.0
APHY-111	4	7.5	30.0
LPM-111	3	5.5	16.5
ENG-111	3	8.3	24.9
CA-111	3	7.1	21.3
Total	17	33.4	112.7
GPA: 6.63	CGPA: 6.63		PA: 6.63
	SECOND S	EMESTER	
Course	Credit Hours	Grade Point	Credit Point
STAT-121	3	5.1	15.3
AN-121	2	7.3	14.6
AB-121	2	6.9	13.8
LPM-121	3	7.1	21.3
AHE-121	3	7.0	21.0
ENVS-121	3	7.9	23.7
Total	16	41.3	109.7
GPA: 6.86	X X ( 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CG	PA: 6.74
	THIRD SE	MESTER	
Course	Credit Hours	Grade Point	Credit Point
VMI-211	3	5.3	15.9
VPARA-211	3	6.0 *	18.0
VPA-211	3	5.3	15.9
AHE-212	3.64	5.9	17.7
AN-211	v xasg2####	5.0 TV KM	10.0
Total	v km14 mi	27.5	77.5 ( R
CPA - 554	CCPA : 638		

NOTE:	@: Non-credit course	#: Not to be Counted;
	US: Unsatisfactory	S: Satisfactory;

\*: Repeated - Cleared Course(S) by more than one trial;

Course	Credit Hours	Grade Point	Credit Point
AHEM-221	2	6.2	12.4
AN-222	2	6.1	12.2
VP-221	5	5.5	27.5
AR-221	3	6.1	18.3
AHC-221	4	6.3	25.2
Total	16	30.2	95.6
GPA: 5.98		CC	PA: 6.28
	FIFTH SEM	ESTER	
Course	Credit Hours	Grade Point	Credit Poin
AHC-312	4	6.8 *	27.2
AR-312	3	7.8 *	23.4
VPH-311	4	7.6 *	30.4
LPM-313	3	5.0	15.0
VSUR-311	3	5.2	15.6
Total	17	32.4	111.6
GPA: 6.56		CC	PA: 6.34
1 (3)	SIXTH SEM	ESTER	2 3 1 100
Course	Credit Hours	Grade Point	Credit Point
FPT-321	15#	S	- III • I
Total	15	S	
GPA: 0.00		CC	PA: 6.34
OGPA		Class	
Less than 5.0		THE SETTING BY Fail DOWN THE STATE OF THE SAME	
5.00-5.49		Pass Class	
5.50-6.49		Second Class	
6.50-7.49		First Class	
7.50 and above		First Class with Distinction	
ABSTRACT	OF ACADEM	IC PERFORM	MANCE

Note: Please see detail of course code and course title overleaf

5. Class: Second Class

3. Overall Grade Point Average

1. Total Credit Hour: 95 2. Total Credit Points

4. Result : PASS







507.1

6.34 /10.00



Percentage